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Answer either in English or in Assamese.
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OPTION-A (g) Write the name of tissue that helps
' hydrophytes to remain floating ?

TETE e (i [y TR GoEfe A10a 2AiTe
el AT 2 '

Paper : BOT-HG-4016/BOT-RC-4016
( Plant Anatomy and Embryology)

1. Answer very briefly : (any seven) 1x7=7

Y& Al ¢ ( fewar ey )

(h) What is quiescent centre ?

(a) What type of endosperm is found in -
rice 'i : () In which tissue stomata are located ?
(UISS I 499 e CoAR TR 2 JGTF (FRY TS (2N AT 7
(b) Where form the embryo gets its | () What is tapetum ? |
nuftrition ? ¢ dopydlh
SAREE A% F3 o[ A 2 CGCofoT 1 2
(c) What are secretory tissues ? :
2.  Write briefly : (any four) 2x4=8

PRI FEER 2
5 @l ¢ (Rigear oif<er)

(d) What type of fruits do not bear seeds ? :
' ' (a) Polyembryony

7 @or = @ 4Rke A G T 0

() Who proposed ‘histogen theory’ to e
- (b) Double fertilization

explain shoot optical organisation ?

I DG 9fe7a I A (A REe ¢ | e
Tepifre [z ¢ | (c) Hydathodes
() What is the significance of cambium ? e

R Sleomf & o
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(d) Annual rings
EERGH
. (e) Casparian strip
' - (orelfE el
() True and false fruits
oS IR AT T
(g) Phylloclade
T P
(h) Heterofertilization

CERGICHR]

3. Answer any three of the following :
: | 5x3=15
wee Y T4 [l fofb Tea o g

(a) What is self-pollination ? Write briefly
about the advantages and
disadvantages of self-pollination.
F-oRIAls 76 2 2RI Soiel o
TereR Raca i @i |
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(b)

(c)

(d)

(e)

(9)

()
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Write briefly on heart wood and sap
wood.

Y T PRI D A FYE |

Describe cellular endosperm with neat
diagram.

AR Do @Y =eeE I [0

Write the difference between i
meristematic tissue and permanent
tissue. :

SieT T O 2 AR e A FE

Write the difference between apomixis
and parthenocarpy.

4o Oie: SRRe o AEs wAide w5

Write on microsporogenesis and
microgametogenesis.
PRTAEA Tl ARG (e R ferai|

Write on cork cambium and vascular
cambium.

o @R S @R (R R E

Write the tissues responsible for
providing mechanical strength

(support) in the higher plants.

THE TR AR <& DR S
faarca fevalt|
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Answer any three of the following :

et WAl e fofasia Tea e g

10x3=30

‘(a) What is megagametogenesis ? Describe

(b)

(c)

in detail the . structure and
development of tetrasporic mature
female gametophyte. '

Tie Fioew (@9 an & o2 FiEsihs
Tfenq bORAERY FATR O ©ie [
[=ca == o

What do you mean by tunica-corpus
theory ? Describe various theories
relating to growth and development
in the stem apex of higher plants.
2+8=10
bee-ang ©% e & 9@ 2 O @[
eI wefE GeE I R [Rere ofve
OIS fael | '

Describe in detail about secondary

growth in dicotyledonous stem with
neat diagram. 2+8=10

A9ER g fo-Se+at Sfews wiea (9N 3
JZHI2 I T4 |
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()

(e)

(g)
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What is apical meristem ? Describe
various theories regarding structure,
growth and development of root apex
of flowering plants. 2+8=10
weE SeE @ [ 2 AR Uend I
STl 515, S SR R AATE SR
TR el |

What is cross-pollination ? What are-
various forms of it ? Describe each of
them briefly with examples.

: 2+2+6=10
Swq ~ealel [ 2 2aR [ew @ Al e
& o THEEE (A0S Aferh! TICE BN 4|

What are the components of vascular
elements ? Describe any one:

component of vascular elements.
2EE=10

HETE CAMIE @ﬂ?i‘iﬂ‘l—ﬂa T & ¢ AR
ToAmie [ afs Tl 3ot =41

What is meristematic tissue ? How are
they classified ? Write briefly about
them. : 2+2+6=10
vos A B 2 WR AReEn @ =
o7 7 AEFA QA BT &7 |
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(h) What is permanent tissue ? Describe ' ' OPTION -B
different types of simple tissues with

neat diagrams. Paper : BOT-HG-4026
el B W & o e T " (Economic Botany and Plant
Tl | we ; Biotechnology )

1. Answer the following (any seven)
1x7=7

O YRS Gl WAl ¢ (Feear sest)

(@) Who first proposed the concept of
centre of origin ?

‘ f TeANGR (FUZE ARE Ael] g G
G » SI9AGIEEET 2 :

(b) What is the scientific name of

soybean ?

FURAS (F@EieE i e

(c) Storage tissue of leguminous seed is

known as

AEETS T e AL (F4
7 |

=il T

(d) Gram belongs to which family ?

JoAIE (I (9iaT WTFshe 2
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(e) Which part of the black pepper plant is
edible ? '
G oI (FRCO! Bk* (ARIR ST 2

) Write the full form of RAPD.
RAPD =7} s ferdi|

(g9 What is androgenesis ?

zTrer] [ 2

(h) What is micropropagation ?
TR & 2

(i) What is DNA marker ?
DNA WiE & 2

(i) What is hybridoma technology ?

ZzEeH Agfe i ¢

2. Write briefly on the following : (any four)
| ' Ox4=8

TETe AR €HEs FLE Il ¢

(a) . Chemical constituent of soybean

SARTE SR 57
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(b) Economic i}ées of gram-
o LS R

(c) Embryo culture
S

(d) Recombinant DNA technology
- DNA 77910 FRTR] GFHiF

(e) - Reverse transcriptase

oSt SEfeihe

(/' Morphology of cotton plant
FAR T2 SRR
(g) Gene therapy
fem fofee
(h) Down syndrome
Tied e
3. Write short notes on the following : (any
three) ; 5x3=15
were MAPTE eoiwe oY (i 74l ¢ (Rizezay
ferabr)
(a) Origin and morphology of whegt
(= Toife R SR
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(b) Chemical constituents and economic

uses of groundnut
AN IAFEF A W= TfAST T

(¢) Morphology and uses of black pepper
TIERd Ol SIS RIS

(d) Processing of tea
19 G REICE e i

fe) Scope of biotechnology
@ﬁﬁ“ﬂ%ﬁm e

(f AppIicaﬁon of embryo culture
Wﬁ%ﬁ/ﬁ?{ 2Tasl ‘

(g) DNA ﬁngerprinting
DNA feesirafefs

(h) ELISA technique

ELISA #f&a
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4. Answer any three of the following :
10x3=30
O TR el folabie Te fr g

(a) What is meant by centre of origin ?
Write in detail Vavilov’s centre of origin
of cultivated plants.

Terifes @mEs A = 3@ 2 eikeres §R
T Terifer (Fmzs 7~ F 0 ©g8 <M 29l
foal |

(b) What are legumes ? Write a general
account of legumes with special

reference to gram and soybean.

TRRGIS *y & 2 T TR: RIS Ko
TR TaREe R *Fie e |

(c) Write the scientific names, families,
parts used and uses of the following :
(i) Clone
(ii) Cotton

U T;r'siln-p\ﬁ @S e, (T, e Tigw
Fe G &7 8

i) =N

(ii) TR
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(h) - Describe the steps involved in DNA

i pathways ¥ sequencing. Write a note on the
application of DNA sequencing.

. . DNA oS aiee GlARTEIR el T4
| DNA fogaise & AT eAF9 s @ it Tl

androgenesis.

T Teolfea Fiaw omfoomz adql & |

(e) What is gel electrophoresis ? Describe
the techniques of southern and
northern blotting.

|
(T 3(EE TR [ 2 uEF OF Ted |
AR Afea™ (FHEPTR 396 41 |

() What are monoclonal antibodies ? ‘
Describe the basic technology for \
production of momoclonal antibodies.

TR GFRREE & 2 WaEa  Fodfe
T SR GTIERE 2gfERMIteR 2o <= |

(g) Who invented PCR.technique ? What
are the requirements of PCR

technique ? Write about the
1+2+7=10

application of PCR.

PCR "% @< wifeR FR@e ¢ PCR
smhed SNaaEigeas & & ? PCR 3
2rAsEs Kac
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